MOMES (B L)

1) Ze=69 (2 Zz=50 (3 Ze=105° (&) Zz=116, Ly=32
(6) ZLr=35, Ly=58 (6 Lz=86

(1)  ZBACHBCItHT2ME/RTH NS

Lx:%éBOCz%x138°=69°

(2) #5 BCIRERTH 05 £ZBAC=90°
£oT, AABCIZBEWT
Lz =180°—(90°+33°)=57°

3 BCIHTBMEEAIIONT
ZBAC=/ZBDC=51°
2T, AABEIZHBWT
Zx=51°+54°=105°

(4) Lz=2/BAC=2x58=116°
OB=0CTH» 5756

Ly :%(180°— 116°)=32°

5) 4x=%4BOC=%x70°=35°

ADCO DHALAHIZDONT
ZBDC=70°+23°=93°

ADAB DRA L AHIZDONT
Ly =93°—35°=58

6) AEBD OWAEHAAIZONT
LAEB=23"+40°=63°

ABIz#t4 3MEA LY LACB= LZAEB=63°
ACE BEDZE% F 35, AFBCONMALAHIZONT

Lz=23"+63"=86°

0 35 (@ Lrem
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(1) £4BDA=a &HL Lk ZBCA=a

AAPCIZENT LCAD=30+a
AQDA IZEWT a +(30°+a)=100°
£oT, a=35°756 £ZBDA=35%

@ MIZEY, ABITHT2H0MAIE 35 X2=70° THEN 5
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